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Rozwiagz réwnanie.
a) [z+4|=14
b) |z —100| =1

Rozwigz nier6wnosc.
a) lz+2[<3

b) |[z—4|>2
c) |[z+6/>3

Rozwigz réwnanie.
a) lt—1|-2z=4
b) lz—1+z=2

Rozwigz nier6wnosé.

a) lz—2|-3z>1
b) |2z + 6| +z < 3
Rozwigz réwnanie.
a) lz+1|—|z[=0
b) |lz|+|z+5|=7

Rozwiaz réwnanie.

a) Vz? +6z+9—|z—2| ==z
b) VA—dz + 22+ V22 =6

Rozwiaz nier6wno$é.
a) lt—3|+|z| <3

b)[1—z|—-1+z|>2
c) lt—5|+|z-1>4

Rozwigz réwnanie.
a) ||lz| - 1| =4
Rozwigz nieréwnosé.
a) [lz| -1] <3

¢) |z +7| = 0,05
d) |10—z| =4

d) |8—z| <1

e) lz—3l=3

f) |z+0,25) =32

g) 0,75 +z| < /1%

h) |z +11] > 0
i) lz-3|> -1

c) lz+4|+1=2z
d)3—z|=z-1

c) lt—5|<z+5
d) 6+z|>2z+6

) |z|—|z—4]=2
d) |z + 3|+ |z| = 3

e) 2z+4|—-2z=4
f) zlz — 4| =22 + 4z

e) 3—z|<z—|2z-6|
f) z|1 — z| < z + 22

e) |z —2[+|z+2|=4
f) 2z+4|—|z—-1|=3

c) lz—2|—|z—3|+|z|=6
d) 4—z|—|z| = |z + 3|

d) 3z —6|— |z +2| <8
e) Vz?+4z+4+|z| <5
f) VO9—6z+z2—-3> Vz?

b) |lz+1|+5| =7

b) |lz| +2| > 4

c) [5—lzl]| =5

c) [lz—2|-3] <3




IE.T);;:——I,N b)z=32 c)z=5

19.
20.
21.
22.

23.

24.

=

a)z=—18,z =10 b) z =99, z =101
¢) z = —7,05, z = —6,95
dz=6,z=14 e)-—:—%'zzg
flz=-1,z=13
a) z € (=5,1) b) z € (—o0,2) U (6,00)
¢) z € (—00,—9)U(-3,00) d) z € (7,9)
e) z € (—o0,3)U(13,00)

f) z € (—18,36) g) z € (-2,3)
h)ze R\ {-11} i)z € R

d)z=2 e)z€(-2,00) f)z=0

a) z € (—o0,1) b) z € (-9,-1)
c)z € (0,00) d) z € (—00,0)

e)z € (2;,43) f)zeR

ajz=-1 b)z=-6,z=1c)z=3
d) z € (-3,0) e) z € (—2,2)
f)z=-8,z=0
a)z=-5,z=-1,z=5
b)jz=-2,z=4 ¢)z=-7,z=5

d):c=-—7|:z:=%

a)z€(0,3) b)z€(~o0,-1) c)z€R
d) z €(-1,8) e) z € (—31,11)

f) sprzeczna

a)z=-5z=5 b)z=-3,z=1
)z=-10,z=0,z=10

a) z € (—4,4) b) z € (—o0, —2) U(2,00)
c) z € (—4,2)U(2,8)
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